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ARCHITECTURAL PLANNING ASSISTANT IN 
TOWN & COUNTRY - - 08/01/2022 

 
1. If a person moving from pole to equator, the centrifugal force acting on him 

a. Increase    b. Decrease   
c. Remains the same   d. Increase and then decrease 
e. Answer not known 
xU kdpjd; JUtj;jpypUe;J epy eLf;Nfhl;il Nehf;fp tUk;NghJ mtd; 
Nky; nray;gLk; ika tpyf;F tpir vt;thW ,Uf;Fk; 
a. mjpfhpf;Fk;    b. FiwAk;   c. khwhky; ,Uf;Fk; 
d. mjpfhpj;J gpd; FiwAk; e. tpil njhpatpy;iy 
 

2. According to Hooke’s law 
a. Stress  strain   b. Stress = E x strain 

c. 𝐸 =
𝑠𝑡𝑟𝑎𝑖𝑛

𝑠𝑡𝑟𝑒𝑠𝑠
    d. Both (A) and (B) are correct 

e. Answer not known 
`_f; tpjpapd; gb 

a. jifT  jphpG  b. jifT = E × jphpG  c. E =
jphpG

jifT
 

d. (a) kw;Wk; (b) ,uz;Lk; rhp  e. tpil njhpatpy;iy 
 

3. Elephantiasis is caused by 
a. Trypanosoma     b. Wuchereria bancrofti 
c. Ascaris lumbricoides    d. Plasmodium vivax 
e. Answer not known 
ahidf;fhy; Nehia Vw;gLj;Jk; caphp 
a. bhpg;gdNrhkh     b. cr;rhPhpah ghq;f;ug;b 
c. m];fhhp]; Yk;gphpfha;l];   d. gpsh];Nkhbak; itthf;]; 
e. tpil njhpatpy;iy 
 

4. Haemoglobin in Human has the highest affinity with which of the 
following gas? 
a. Carbon monoxide    b. Methane 
c. Nitrous Oxide     d. Carbon-di-Oxide 
e. Answer not known 
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fPo;fz;l ve;j thAld; kdpjdpd; `PNkhFNshgypd; kpf mjpfkhf 
gpizg;gpid Vw;gLj;jp nfhs;Sk;? 
a. fhh;gd; Nkhdhf;irL  b. kPNjd;  d. iel;u]; Mf;irL 
c. fhh;gd; il Mf;irL  e. tpil njhpatpy;iy 
 

5. India’s most valuable test player of cricket in the 21st century by Wisden 
Magazine is 
a. Sachin Tendulkar    b. Ravindra Jedeja 

c. R. Ashwin     d. Virat Kohli 
e. Answer not known 
21 Mk; E}w;whz;by; ,e;jpahtpd; kpfr;rpwe;j nl];l; fphpf;nfl; tPuuhf 
tp];nld; gj;jphpifahy; fzpf;fg;gl;lth; 
a. rr;rpd; nlz;Ly;fh;  b. utPe;jpu [Nl[h  c. R. m];tpd;  
d. tPuhl; Nfhyp    e. tpil njhpatpy;iy 
 

6. The relief of Doklam, which is a trijunction of India, China and Bhutan is a 
a. Mountain range    b. Plateau 

c. Plain      d. Hill 
e. Answer not known 
,e;jpa> irdh kw;Wk; G+l;lhdpd; Kr;re;jpg;ghd> ‘Njhf;yhk;’ - ,d; 
epyj;Njhw;wk; 
a. kiyj; njhlh;   b. gPlG+kp    c. rkntsp 
c. Fd;W     e. tpil njhpatpy;iy 
 

7. The National song of India ‘Vande Mataram’ was a part of 
Bankimchandra’s most famous Novel 
a. Maila aanchal   b. Pinjar 
c. Anand math   d. Poocho Parsai 
e. Answer not known 
,e;jpahtpd; Njrpa ghly; ‘te;Nj khjuk;’> gq;fpk; re;jpuhtpd; kpfTk; 
gpugykhd ehty;  _____ d; xU gFjpahFk;. 
a. ikyh MQ;ry;  b. gpQ;rh;    c. Mde;j; kj; 
d. G+r;Nrh gh;rha;  e. tpil njhpatpy;iy 
 

8. Name of 23rd Indian chief Election Commissioner 
a. Sunil Varma b. Sunil Singh c. Sunil Dhatta d. Sunil Aroro 
e. Answer not known 
,e;jpahtpd; 23tJ jiyik Njh;jy; Mizah; ngah; 
a. Rdpy; th;kh   b. Rdpy; rpq;   c. Rdpy; jj;jh 
d. Rdpy; mNuhNuh  d. tpil njhpatpy;iy 
 

9. The forests are under the direct supervision of the Government and no 
public entry is allowed for collection of timber or grazing of cattle 
a. Reserved Forests    b. Protected Forests 
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c. Unclassified Forests   d. Broad-Leaf Forests 
e. Answer not known 
murpd; Neub fz;fhzpg;gpy; cs;s fhLfs; kw;Wk; kuk; ntl;lTk;> khLfs; 
Nka;g;gjw;F nghJ kf;fis mDkjpf;fhj fhLfs; 
a. xJf;fg;gl;l fhLfs;    b. ghJfhf;fg;gl;l fhLfs; 
c. tifg;gLj;jg;glhj fhLfs;   d. mfd;w ,iy fhLfs; 
e. tpil njhpatpy;iy 
 

10. Which one of the following is the right bank tributary of Godavari river? 
a. Purna  b. Manjira  c. Penganga d. Indravathi 
e. Answer not known 
gpd;tUtdtw;Ws; Nfhjhthp ejpapd; tyJ Jiz MW vJ? 
a. G+h;dh   b. kd;[puh    c. ngd;fq;fh 
c. ,e;jpuhtjp  e. tpil njhpatpy;iy 
 

11. The place associated with Shivaji 
a. Shivneri  b. Yercaud  c. Ahmed Nagar  d. Hampi 
e. Answer not known 
rpth[pAld; njhlh;Gila Ch;? 
a. `pt;ndhp  b. Vw;fhL    c. m`kj;efh; 
d. `k;gp  e. tpil njhpatpy;iy 
 

12. Which of the following pair are correctly matched. 
Hills     Region 

1. Cardamom Hills  - Coromandel Coast 
2. Kaimur Hills  - Konkan Coast 
3. Mahadeo Hills  - Central India 
4. Mikir Hills   - North-East India 
a. 1 and 2  b. 2 and 3  c. 3 and 4  d. 2 and 4 
e. Answer not known 
fPNo nfhLf;fg;gl;ltw;wpy; rhpahdij nghUj;Jf 

kiyfs;    ,lq;fs; 
1. Vyf;fha; kiy - Nrhokz;lyf; flw;fiu 
2. if%h; kiy  - nfhq;fdf; flw;fiu 
3. kfhjpNah kiy - kj;jpa ,e;jpah 
4. kpfph; kiy  - tl fpof;F ,e;jpah 
a. 1 kw;Wk; 2  b. 2 kw;Wk; 3   c. 3 kw;Wk; 4 
c. 2 kw;Wk; 4  e. tpil njhpatpy;iy 
 

13. Slaves who were in great demand under the Mughals were 
a. Africans  b. Afghans  c. Abyssinians  d. Persians 
e. Answer not known 
Kfyhah;fs; ve;j ,dj;J mbikfis mjpfk; gad;gLj;jpdh;? 
a. Mg;gphpf;fh;fs;  b. Mg;fhdpah;fs;   c. mgprPdpah;fs; 
c. ngh;rpad;fs;  e. tpil njhpatpy;iy 



 

4 | P a g e  
 

 
14. “The Gupta period is in the annals of classical India almost what the 

Periclean age is in the History of Greece”. Who said the above statement? 
a. Dr. V.A. Smith  b. Dr. Keith  c. Dr. Altekar d. Barnett 
e. Answer not known 
fpNuf;f tuyhw;wpy; nghpf;spad; fhyk; ve;j mstpw;F Kf;fpaNkh mNj 
mstpw;F ,e;jpa tuyhw;wpy; Fg;jh;fspd; fhyk; Kf;fpaj;Jtk; tha;e;jJ vd 
Nkw;fz;l thrfj;ij $wpaJ ahh;? 
a. Kidth; V.A. ];kpj;  b. Kidth; fPa;j;   
c. Kidth; my;Nlfh;  d. ghh;ndl;  e. tpil njhpatpy;iy 
 

15. The concept of equality before law is an element of the concept of  
a. Administrative law   b. International law 
c. Rule of law     d. Constitutional law 
e. Answer not known 
rl;lj;jpd; Kd; midtUk; rkk; vd;w fUj;JU _____ cWg;ghFk;. 
a. Ml;rpj;Jiw rl;lk;   b. gd;dhl;Lr; rl;lk; 
c. rl;lj;jpd; Ml;rp    d. murpayikg;Gr; rl;lk; 
e. tpil njhpatpy;iy 
 

16. Which of the following are the limitations on the sovereignty of Indian 
Parliament? 
1. Fundamental Rights   2. Judicial Review 
3. Federalism     4. Written Constitution 
a. 1, 3 and 4  b. 1, 2 and 3 c. 1 and 2  d. 1, 2, 3, and 4 

e. Answer not known 
fPo; nfhy;yg;gl;Ls;stw;Ws; ,e;jpa ghuhSkd;wj;jpd; ,iwahz;ikf;F 
cs;s tuk;Gfs; 
1. mbg;gil chpikfs; 
2. ePjpg;Gzuha;T 
3. $l;lhl;rp 
4. vOjg;gl;l murpayikg;G 
a. 1> 3 kw;Wk; 4  b. 1> 2 kw;Wk; 3 
c. 1 kw;Wk; 2   d. 1> 2> 3 kw;Wk; 4 e. tpil njhpatpy;iy 
 

17. The duties of the state have been listed in which part of the Indian 
Constitution? 
a. Preamble      b. Fundamental Rights   
c. Directive Principles of State Policy d. Fundamental Duties 
e. Answer not known 
,e;jpa murpayikg;Gr; rl;lj;jpd; ve;j gFjpapd; fPo; murpd; flikfs; 
vdf; fUjg;gLgitfs; gl;bayplg;gl;Ls;sd? 
a. KfTiu      b. mbg;gil chpikfs; 
c. murpw;fhd topfhl;L newpKiwfs;  d. mbg;gilf; flikfs;  
e. tpil njhpatpy;iy 
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18. Article 14 to 18 of the Indian Constitution explain 

a. Fundamental Duties   b. Election 
c. Right to Equality    d. Judiciary 
e. Answer not known 
murpayikg;G tpjpfs; 14 Kjy; 18 tiu tpsf;FtJ 
a. mbg;gil flikfs;  b. Njh;jy;   c. rkj;Jt chpik 
d. ePjpj;Jiw    e. tpil njhpatpy;iy 
 

19. “The Centre would levy and collect the IGST on all inter-state supply of 
goods and services”. What does I is IGST stands for? 
a. Internal  b. Intra  c. Integrated  d. Intramural 
e. Answer not known 
khepyq;fSf;F ,ilNaahd gz;lq;fs; kw;Wk; Nritfs; kPJ eLtz; muR 
t#ypf;Fk; IGST - ,y; cs;s “I” vd;gjd; tphpthf;fk; ahJ? 
a. Internal   b. Intra   c. Integrated 
d. Intramural   e. tpil njhpatpy;iy 
 

20. In India poverty continues to persist because of 
a. Rising Prices      b. Rising population  
c. Lack of opportunities for employment  d. All of these 

e. Answer not known 
,e;jpahtpy; tWik njhlh;e;J ePbf;fpwJ> Vndd;why; 
a. caUk; tpiythrp   b. mjpfhpj;J tUk; kf;fs; njhif 
c. Ntiy tha;g;gpd;ik   d. NkNy cs;s midj;Jk; 
e. tpil njhpatpy;iy 
 

21. Paper Currency system is managed by the  
a. Central Monetary authority  b. State Government 
c. Central Government   d. Reserve Bank of India 
e. Answer not known 
fhfpj gzk; Kiw ______y; eph;tfpf;fg;gLfpwJ. 
a. ika gztpay; mjpfhhp   b. khepy muR 
c. kj;jpa muR     d. ,e;jpa hprh;t; tq;fp 
 

22. The Sarvodaya plan was formulated by 
a. Jaiprakash Narayan    b. Mahatma Gandhi 
c. Acharya Vinoba Bhave    d. M.N. Roy 
e. Answer not known 
rh;Nthjah jpl;lk; ,tuhy; cUthf;fg;gl;lJ 
a. n[a; gpufh~; ehuhaz;    b. kfhj;kh fhe;jp 
c. Mr;rhh;ah tpNahgh ghNt   d. M.N. uha; 
e. tpil njhpatpy;iy 
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23. Who remarked these words “Tell me what share I am to have in the 
Swaraj”? 
a. Sir Syed Ahmed Khan   b. Gopala Krishna Gokhale 
c. B.R. Ambedkar    d. B.G. Tilak  
e. Answer not known 
“Rauh[;aj;jpy; vdf;F vd;d gq;F ,Uf;fpwJ vd;W nrhy;Yq;fs;” - ,J 
ahUila thh;j;ijfs;? 
a. rh; iraj; mfkj;fhd;   b. Nfhghy fpU~;z NfhfNy 
c. B.R. mk;Ngj;fhh;    d. gh.f. jpyfh; 
e. tpil njhpatpy;iy 
 

24. __________ was the editor of the Journal Bharat Mata. 
a. Sufi Ajit Singh   b. Sufi Amba Prasad 
c. Lal Chand    d. Dhanpat Rai 
e. Answer not known 
ghuj; khjh gj;jphpf;ifapd; Mrphpah; 
a. R/gp m[pj; rpq;  b. R/gp mk;gh gpurhj; 
c. yhy; re;j;   d. jd;gj; uha;  e. tpil njhpatpy;iy  
 

25. The book ‘Poverty and Un-British rule in India’ was written by 
a. Dadabhai Naoroji   b. G.V. Joshi 
c. R.C. Dutt     d. Ranade 
e. Answer not known 
“gphpl;b~; jd;ikaw;w Ml;rpAk;> ,e;jpahtpd; tWikAk;” vd;w E}iy 
vOjpath; 
a. jhjhgha; nesNuh[p  b. [P.tp. N[h~p  d. Mh;.rp. jj; 
d. uhzNl    e. tpil njhpatpy;iy 
 

26. Arrange the following events in chronological order 
1. Moplah Rebellion   2. Santhal’s Rebellion 
3. The Great Revolt   4. Champaran 
a. 3, 2, 4, 1  b. 2, 3, 1, 4  c. 2, 3, 4, 1  d. 3, 1, 4, 2 
e. Answer not known 
nfhLf;fg;gl;l epfo;Tfis thpirg;gLj;Jf 
1. Nkhg;yh` fpsh;r;rp 
2. re;jhy; fpsh;r;rp 
3. ngUk; Gul;rp 
4. rk;ghud; 
a. 3, 2, 4, 1   b. 2, 3, 1, 4   c. 2, 3, 4,  1 
d. 3, 1, 4, 2   e. tpil njhpatpy;iy 

 
27. Samarasa Suddha Sanmarga Sangam was established by 

a. Chattambi Swamigal   b. Narayana Guru 
c. Ramalinga Adigal   d. Ramana Maharishi 
e. Answer not known 
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rkur Rj;j rd;khh;f;f rq;fj;ijj; Njhw;Wtpj;jth; 
a. rl;lk;gp Rthkpfs;    b. ehuhaz FU 
c. uhkypq;f mbfs;    d. ukz kfhp~p 
e. tpil njhpatpy;iy 
 

28. Which one of the statements is/are incorrect regarding Deeran 
Chinnamalai? 

1. Deeran Chinnamalai participated in the Anglo Mysore war 
2. He organised the soldiers of the Kongu region against the British 
3. In 1802 he defeated by the Maxwell in the battle of Odanilai 
4. He hanged by British at Sankakiri 

a. 1 is correct 2, 3, 4 are incorrect b. 1, 2 are correct 3, 4 are incorrect 
c. 1, 2, 4 are correct 3 is incorrect d. 1, 2, 3 are correct 4 is incorrect 
e. Answer not known 
fPo;fz;l $w;Wfspy; jPud; rpd;d kiyia gw;wp jtwhd $w;W vJ? 
1. jPud; rpd;dkiy Mq;fpy ik#h; Nghh;fspy; fye;J nfhz;lhh; 
2. nfhq;F ehl;L tPuh;fis Mq;fpNyaUf;F vjpuhf xUq;fpizj;jhh; 
3. 1802y; Nkf;];nty; vd;w jsgjp jPud; rpd;dkiy Njhw;fbj;jhh; 
4. ,th; rq;ffphp Nfhl;ilapy; J}f;fpyplg;gl;lhh; 
a. 1 kl;Lk; rhp 2> 3> 4 jtwhdJ   
b. 1> 2 rhpahdJ 3> 4 jtwhdJ 
c. 1> 2> 3 rhpahdJ 3 kl;Lk; jtwhdJ 
d. 1> 2> 3 rhpahdJ 4 kl;Lk; jtwhdJ 
e. tpil njhpatpy;iy 

 
29. Find out the author of the novel “Auttrankarai Pillaiyar” from the 

following: 
a. Aringnar Anna    b. Jayakanthan 
c. Thu. Sa. Iraamamirtham  d. Pudumaipithan 
e. Answer not known 
‘Mw;wq;fiug; gps;isahh;’ vd;w rpWfijapd; Mrphpah; 
a. mwpQh; mz;zh  b. n[afhe;jd;  d. J}.rh. ,uhkhkph;jk; 
d. GJikg;gpj;jd;  e. tpil njhpatpy;iy 
 

30. The playwright Sambantham’s ‘The Sabaapathi’ belong to 
a. Imitation  b. Comedy  c. Detective  d. Socialistic 
e. Answer not known 
ehlfg; Nguhrphpah; rk;ge;j Kjypahhpd; ‘rghgjp’ vd;w ehlfkhdJ 
a. jOty; ehlfk;  b. kpfr;rpwe;j eifr;Rit ehlfk; 
c. Jg;gwpAk; ehlfk;  d. r%f ehlfk;  e. tpil njhpatpy;iy 
 

31. ‘Nadamada Kovil Nambarku rendru eyil 
Padamada Kovil Pakavarku Adu Aame” 
- the meaning of this “Thirumanthira Padal” 
a. Whatever you give to God reaches man 
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b. Whatever given to man as charity goes to God 
c. To help human beings is not the way to reach God 
d. To attain Godliness give everything to God 
e. Answer not known 
“elkhlf; Nfhapy; ek;gh;f;F nud;W <apy; 
glkhlf; Nfhapy; gftw;F mJ MNk” – vd;w 
jpUke;jpug;ghly; czh;j;jk; fUj;J 
a. ,iwtDf;Fg; gilg;gJ kdpjDf;Fg; Ngha;r; NrUk; 
b. kdpjDf;F nfhLg;gJ ,iwtidr; NrUk; 
c. kdpjDf;F cjTtJ ,iwtid milAk; topad;W 
d. ,iwtid mila ,iwtDf;Fg; gilj;jNt ed;W 
e. tpil njhpatpy;iy 
 

32. Who has written the Paasurangal (hymns) called ‘Pallamadai’? 
a. Thirumangaiyalvar  b. Sundarar  c. Aandaal   
d. Manickavasagar   e. Answer not known 
“gs;skil” vd;W miof;fg;ngWk; ghRuq;fs; ahUilait? 
a. jpUkq;ifaho;thh;   b. Re;juh;  c. Mz;lhs; 
d. khzpf;fthrfh;   e. tpil njhpatpy;iy 
 

33. Pugal Yenin uyirum kodukkubavar pazhi yenin 
Ulagudan perineum kollalaar-  
[for reputation they give their life – for guilt they won’t accept even if you 
offer this world] 
This Purananutru padal indicates 
a. Wisemen (Sandrorgal)   b. Kings (Arasargal) 
c. Poets (Pulavargal)   d. Warriors (Veerargal) 
e. Answer not known 
‘Gfo; vdpd; capUk; nfhLf;Fth; gopvdpd; 
cyFld; ngwpDk; nfhs;syh;’ – vd GwehD}w;Wg;ghly; ahiur; Rl;LfpwJ? 
a. rhd;Nwhh;fs;  b. murh;fs;   c. Gyth;fs; 
d. tPuh;fs;   e. tpil njhpatpy;iy 
 

34. The Government Final Consumption Expenditures (GFCE) comprises of the 
followings: 
i. Revenue expenditure 
ii. Gross purchase of goods and services 
iii. Consumption of fixed capital 
iv. Consumption of variable capital 
Select the correct one combination 
a. i and ii only  b. i and iii only       c. ii and iii only  
d. i and iv only  e. Answer not known 
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murhq;fj;jpd; ,Wjp Efh;T nryT gpd;tUtdtw;iw cs;slf;fpaJ 
(i) tUtha; nrytpdq;fs; 
(ii) nghUs;fs; kw;Wk; Nritfspd; nkhj;j nfhs;Kjy; 
(iii) epiyahd %yjd Efh;T 
(iv) khWk; %yjd Efh;T 
rhpahdtw;iw Njh;e;njL. 
a. (i) kw;Wk; (ii) kl;Lk;   b. (i) kw;Wk; (iii) kl;Lk; 
c. (ii) kw;Wk; (iii) kl;Lk;   d. (i) kw;Wk; (iv) kl;Lk; 
e. tpil njhpatpy;iy 
 

35. Consider the following Statements: 
(1) SAKHI scheme is for women 
(2) Poorna Sakthi Kendra is for women 
(3) Village convergence and facilitation service is for women 
(4) NAV-YUVAK scheme for women 
Among these which are correct? 
a. 1 and 4 are correct  b. 3 and 4 are correct 
c. 2 and 4 are correct  d. 1, 2, 3 are correct 

e. Answer not known 
gpd;tUk; $w;iw Muha;f: 
(1) SAKHI -jpl;lk; ngz;fSf;fhdJ 
(2) G+h;z rf;jp Nfe;jpuh ngz;fSf;fhdJ 
(3) fpuhk xUq;fpizg;G kw;Wk; Nritfis vspjhf;Fk; jpl;lk;> 

ngz;fSf;fhdJ. 
(4) NAV-YUVAK (et;-Atf;) jpl;lk;> ngz;fSf;fhdJ 
a. (1) kw;Wk; (4) rhp   b. (3) kw;Wk; (4) rhp 
c. (2) kw;Wk; (4) rhp   d. (1)> (2) kw;Wk; (3) rhp 
e. tpil njhpatpy;iy 

 
36. Assertion (A) : The one stop crisis centre supports all women above 18  

                           years of age affected by violence. 
Reason (R)      : For girls below 18 years of age institutions and authorities  
                           established under Juvenile Justice Act and POSCO act, 2012  
                           will support. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) is false and (R) is true 
c. (A) is true and (R) is false 
d. Both (A) and (R) are true and (R) is the correct explanation of (A) 
e. Answer not known 
$w;W (A): xU epiy neUf;fb ikak; td;Kiwahy; ghjpf;fg;gl;l 18 
taJf;F Nkw;gl;l midj;Jg; ngz;fSf;Fk; cjTfpwJ. 
fhuzk; (R): 18 taJf;F Fiwthd ngz; Foe;ijfSf;F rpwhh; ePjpr; 
rl;lk; kw;Wk; Nghf;Nrh rl;lk;> 2012 %yk; epWtg;gl;l epWtdq;fSk;> 
mjpfhhpfSk; cjTth;. 
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a. (A) kw;Wk; (R) ,uz;LNk rhp kw;Wk; (R) vd;gJ (A) tpw;fhd rhpahd 
tpsf;fk;  

b. (A) jtW (R) rhp 
c. (A) rhp (R) jtW 
d. (A) kw;Wk; (R) ,uz;LNk rhp kw;Wk; (R) vd;gJ (A) tpw;fhd rhpahd 

tpsf;fky;y  
e. tpil njhpatpy;iy 

 
37. The Tamil Nadu State Action Plan on Climate Change (TNSAPCC) has 

identified vulnerable sectors for development. Select the appropriate sectors 
from the below list. 
1. Sustainable Agriculture  2. Water Resources 
3. Industrial pollution  4. Coastal Area management 
5. Sustainable Habitat  6. Knowledge management 
Select the correct answer by using the codes given below: 
a. 1, 2, 4, 5 and 6  b. 2, 3, 4, 5 and 6  c. 1, 3, 4, 5 and 6 
d. 1, 2, 3, 4 and 5  e. Answer not known 
fhy epiy khw;wk; Fwpj;j jkpo; khepy nray; jpl;lk; (TNSAPCC)> 
ghjpf;fg;glf; $ba VO Jiwfis fz;lwpe;Js;sJ. fPNo nfhLf;fg;gl;Ls;s 
gl;baypypUe;J rhpahd Jiwia njhpT nra;f. 
1. epiyahd Ntshz;ik 
2. ePh; tsq;fs; 
3. njhopw;rhiy khRgLj;Jjy; 
4. flNyhu gFjp Nkyhz;ik 
5. epiyahd tho;tplk; 
6. mwpT Nkyhz;ik 
FwpaPLfis gad;gLj;jp rhpahd tpil fhz;f: 
a. 1> 2> 4> 5 kw;Wk; 6    b. 2> 3> 4> 5 kw;Wk; 6 
c. 1> 3> 4> 5 kw;Wk; 6    d. 1> 2> 3> 4 kw;Wk; 5 
e. tpil njhpatpy;iy 
 

38. Match the following: 
Productivity position of Tamil Nadu at national level 

Crop    Position of Tamil Nadu at National Level 
A. Total Pulses  1. One 
B. Total Oilseeds  2. Two 
C. Rice    3. Three 
D. Sugarcane   4. Four 
E. Coarse cereals  5. Eight 

 A B C D E 
a. 5 1 2 3 4 
b.  5 4 3 2 1 
c. 4 1 5 3 2  

 d. 3 2 4 1 5 
e. Answer not known 
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 nghUj;Jf: 
Njrpa mstpy; jkpof cw;gj;jpj; jpwd; epiy 
jhdpa tif   Njrpa ju epiy 
A. nkhj;j jhdpaq;fs;  1. xd;W 
B. vz;nza; tpj;Jfs;  2. ,uz;L 
C. ney;    3. %d;W 
D. fUk;G    4. ehd;F 
E. jplkhd jhdpaq;fs;  5. vl;L 
 A B C D E 
a. 5 1 2 3 4 
b. 5 4 3 2 1 
c. 4 1 5 3 2 
d. 3 2 4 1 5 
e. tpil njhpatpy;iy 

 
39. In how much time will a sum of Rs. 1,600 amount to Rs. 1,852.20 at 5% per 

annum compound interest? 
a. 2 years  b. 5 years  c. 4 years  d. 3 years 

e. Answer not known 
₹ 1>600 MdJ 5% Mz;L $l;L tl;b tPjk; nfhz;L vj;jid Mz;Lfspy; 
₹ 1>852.20 MFk;? 
a. 2 Mz;Lfs;  b. 5 Mz;Lfs;   c. 4 Mz;Lfs; 
c. 3 Mz;Lfs;  e. tpil njhpatpy;iy 
 

40. Find the ratio : 666 gm to 6 kg 
a. 111:1  b. 111:10  c. 111:100  d. 111:1000 
e. Answer not known 
“666 fpuhKf;F 6 fpNyhfpuhk;” vd;gjd; tpfpjk; fhz;f. 
a. 111:1  b. 111:10  c. 111:100  d. 111:1000 
e. tpil njhpatpy;iy 
 

41. Find the next letter 
R, U, X, A, D, _________. 
a. E   b. H   c. G   d. F 
e. Answer not known 
mLj;j vOj;ijf; fz;lwpf. 
R, U, X, A, D, _________. 
a. E  b. H  c. G  d. F  e. tpil njhpatpy;iy 
 

42. Find out the next number in : 
840, 168, 42, 14, 7, _________. 
a. 7   b. 1   c. 0   d. -7 
e. Answer not known 
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mLj;j vz; ahJ? 
840, 168, 42, 14, 7, ____. 
a. 7  b. 1  c. 0  d. -7  e. tpil njhpatpy;iy 
 

43. A can do a piece of work in 12 hours. B and C can do it 3 hours whereas A 
and C can do it in 6 hours. How long will B alone take to do the same work? 
a. 2 hours  b. 5 hours  c. 7 hours  d. 4 hours 

e. Answer not known 
A vd;gth; xU Ntiyia 12 kzp Neuj;jpy; Kbg;ghh;. B kw;Wk; C me;j 
Ntiyia 3 kzp Neuj;jpYk; A kw;Wk; C me;j Ntiyia 6 kzp 
Neuj;jpYk; nra;J Kbg;gh;. mNj Ntiyia B jdpNa vt;tsT kzp 
Neuj;jpy; Kbg;ghh;? 
a. 2 kzpfs;  b. 5 kzpfs;  c. 7 kzpfs; 
d. 4 kzpfs;  e. tpil njhpatpy;iy 

 
44. A works 3 times as fast as B and is able to complete a task in 24 days less 

than the days taken by B. Find the time in which they can complete the 
work together. 
a. 4 days   b. 6 days  c. 9 days  d. 7 days 
e. Answer not known 
A Mdth; B vd;gtiuf; fhl;bYk; Ntiy nra;tjpy;> 3 klq;F Ntfkhdth;. 
mtuhy; me;j Ntiyia> B vLj;Jf; nfhz;l Neuj;ij tpl 24 ehs;fs; 
Fiwthf vLj;J Kbf;f KbfpwJ. ,UtUk; Nrh;e;J me;j Ntiyia 
Kbf;f MFk; Neuj;ij fhz;f. 
a. 4 ehs;fs;   b. 6 ehs;fs;   c. 9 ehs;fs; 
d. 7 ehs;fs;  e. tpil njhpatpy;iy 
 

45. Find the compound interest on Rs. 15,625 for 6 months at 16% per annum 
compounded quarterly 
a. Rs. 1,300  b. Rs. 1,325  c. Rs. 1,250  d. Rs. 1,275 
e. Answer not known 
₹ 15>625-I 6 khjq;fSf;F 16% Mz;L tl;b tPjj;jpy; KjyPL nra;jhy;> 
tl;b fhyhz;Lf;F xU Kiw Nrh;f;fg;gl;lhy;> $l;L tl;biaf; fhz;f. 
a. ₹ 1,300  b. ₹ 1,325  c. ₹ 1,250  d. ₹ 1,275  
e. tpil njhpatpy;iy 
 

46. At what rate per annum will Rs. 8,000 amount to Rs. 9,261 is 3 years, when 
interest is being compounded annually? 
a. 3%   b. 4%   c. 5%   d. 2% 
e. Answer not known 
₹ 8>000 MdJ %d;W Mz;Lfspy; $l;Lj; njhif ₹ 9>261 MFk;. $l;L 
tl;b tPjk; fhz;f. (tl;b Mz;bw;F xU Kiw mrYld; NrUfpd;wJ). 
a. 3%   b. 4%   c. 5%   d. 2% 
e. tpil njhpatpy;iy 
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47. 12 cows can graze a field for 10 days. 20 cows can graze the same field for 

__________.  
a. 15   b. 18   c. 6   d. 8 
e. Answer not known 
12 khLfs; xU taiy 10 ehl;fspy; Nka;fpwJ vdpy; 20 khLfs; mNj 
taiy vj;jid ehl;fspy; NkAk;? 
a. 15   b. 18   c. 6   d. 8 
e. tpil njhpatpy;iy 
 

48. Find x if 𝑥:
4

9
=

3

11
:
5

33
 

a. 
3

7
    b. 

11

15
   c. 

𝟒

𝟓
   d. 

3

17
 

e. Answer not known 
4 3 5

: :
9 11 33

x =  vdpy;> x d; kjpg;G fhz;f: 

a. 
3

7
   b. 

11

15
   c. 

4

5
   d. 

3

17
 

e. tpil njhpatpy;iy 
 

49. Find HCF of 
x2 + xy, x3y2 + x2y3 
a. x (x +y)  b. x2 + xy  c. x3y2 + x2y3 d. xy (x + y) 
e. Answer not known 
kP.ngh.t. fhz;f: 
x2 + xy, x3y2 + x2y3 
a. x (x +y)  b. x2 + xy  c. x3y2 + x2y3 d. xy (x + y) 
e. tpil njhpatpy;iy 

 
50. What is the HCF of x4 – 1 and x2 – 1? 

a. (x + 1) (x – 1)  b. (x – 1)2  c. x2 + 1  d. (x + 1)2 
e. Answer not known 
x4 – 1, x2 – 1d; kP.ngh.t. fhz;f : 
a. (x + 1) (x – 1)  b. (x – 1)2  c. x2 + 1  d. (x + 1)2 
e. tpil njhpatpy;iy 
 

51. The frequency range of X-rays are 
a. 1017 Hz to 1019 Hz   b. 1010 Hz to 1012 Hz 
c. 105 Hz to 1010 Hz   d. None of the above 
e. Answer not known 
X fjph;fspd; mjph;ntz; __________ MFk;. 
a. 1017 Kjy; 1019 n`h;l;]; tiu  b. 1010 Kjy; 1012 n`h;l;]; tiu 
c. 105 Kjy; 1010 n`h;l;]; tiu  d. Nkw;$wpa vJTkpy;iy 
e. tpil njhpatpy;iy 
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52. Above the curie temperature, a magnetic materials become 

a. Ferro magnetic   b. Paramagnetic 
c. Dia magnetic   d. Ferri magnetic 
e. Answer not known 
f;A+hp ntg;gepiyf;F Nky; fhe;j nghUl;fs; ________ Mf ,Uf;Fk;. 
a. ngh;Nuh fhe;jk;  b. ghuh fhe;jk;  c. ilah fhe;jk; 
d. ngh;hp fhe;jk;  e. tpil njhpatpy;iy 
 

53. When the full moon is at the closest point (perigee) of its orbit to Earth it 
looks bigger and brighter, when we see it farthest point (apogee) from earth 
is called 
a. Lunar Eclipse b. Blood Moon c. Blue Moon d. Super Moon 
e. Answer not known 
ngsh;zkp epytpd; Rw;Wtl;lg;ghij G+kpf;F kpf mUfpy; ,Uf;Fk; nghOJ> 
kpfTk; nghpajhfTk; mjpf xsp cilajhfTk; G+kpapd; kpfj; 
njhiytpYs;s Xh; ,lj;jpypUe;J ghh;f;Fk; nghOJ njhptJ ________ 
MFk;. 
a. re;jpu fpufzk;  b. rptg;G epyh  c. ePy epyh 
d. #g;gh; epyh   e. tpil njhpatpy;iy 
 

54. The basis of life is 
a. Amino acids b. Proteins  c. Lipoproteins    d. Nucleic acids 
e. Answer not known 
caphpd; mbg;gil %yk; vd;gJ 
a. mkpNdh mkpyq;fs;   b. Gujq;fs; 
c. nfhOg;G Gujq;fs;   d. epA+f;spf; mkpyq;fs; 
e. tpil njhpatpy;iy 
 

55. The digital India campaign was launched in the year 
a. 2016   b. 2014  c. 2015  d. 2017 
e. Answer not known 
“b[pl;ly; ,e;jpah” vDk; gpur;rhuk; Jtq;fg;gl;l Mz;L 
a. 2016   b. 2014  c. 2015  d. 2017 
e. tpil njhpatpy;iy 
 

56. Match the following : 
Book       Author 

A. If it Bleeds     1. R.C. Bhargava 
B. The Endgame     2. Stephen king 
C. Getting competitive a practioner  3. V. Pattabhiram 

guide for India 
D. Future of Higher education: nine  4. S. Hussain Zindi 

mega trends 
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A B C D  
a. 2 4 1 3  
b.  2 3 4 1  
c. 3 2 1 4   

 d. 1 2 3 4 
e. Answer not known 

 fPo;fz;ltw;iw nghUj;Jf : 
   E}y;       Mrphpah; 
 A. xU Ntis frpe;jhy;    1. R.C. ghh;fth 
 B.  ,Wjp tpisahl;L     2. ];Bgd; fpq; 
 C. Nghl;bapLk;gbahf ,U: ,e;jpahtpw;fhd 3. V. gl;lhgpuhk; 
       eilKiwahsh; ifNaL 
 D. cah; fy;tpapd; vjph;fhyk; : xd;gJ   4. S. `_Nrd; irjp 
   Nghf;Ffs; 

 A B C D  
a. 2 4 1 3  
b.  2 3 4 1  
c. 3 2 1 4   

 d. 1 2 3 4 
e. tpil njhpatpy;iy 

 
57. Match the following : 

Nobel prize 2020 Laureates    Field 
A. Harvey J.Alter, Michael Houghton 1. Literature 

and Charles M.Rice 
B. Emmanuelle Charpentier and   2. Economics 

Jennifer A. Doudna  
C. Louis Gluck     3. Medicine 
D. Paul R Milgrom and Robert B Wilson 4. Chemistry 

 A B C D  
a. 1 3 4 2  
b.  3 4 1 2  
c. 2 4 3 1   
d. 4 2 1 3 
e. Answer not known 

rhpahf nghUj;Jf 
2020 Nehgy; ghpR ngw;wth;fs;    Jiw 

A. `hh;Nt J. My;lh;> ikNfy; N`hl;ld;  1. ,yf;fpak; 
  kw;Wk; rhh;y]; vk;. iu]; 
B.  ,k;khDNty; fhh;nge;jph; kw;Wk; n[dpgh;  2. nghUshjhuk; 
     A lTl;dh 
C. Yap]; f;sf;      3. kUj;Jtk; 
D. Nghy; Mh;-kpy;fpuk; kw;Wk; uhgh;l; gp. tpy;rd; 4. Ntjpapay; 
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A B C D  
a. 1 3 4 2  
b.  3 4 1 2  
c. 2 4 3 1   
d. 4 2 1 3 
e. tpil njhpatpy;iy 

 
58. In which tribal group of India does Afghan and Baloch Brahuri group 

belongs to? 
a. Turko-Iranian Tribe   b. Australoid 
c. Nigeroid     d. Cacavside 
e. Answer not known 
,e;jpa goq;Fbapdh; tiffspy; ve;j goq;Fbapy; Mg;fhd; kw;Wk; ghYr;-
gpuhgp ,lk; ngWk; 
a. Jh;Nfh-,uhdpad; goq;Fb  b. M];lyha;L 
c. ePf;uha;L     d. fhfpj rha;L 
e. tpil njhpatpy;iy 
 

59. The width of the broad gauge railway is 
a. 1.576 m  b. 1.676 m  c. 1.776 m  d. 1.876 m 
e. Answer not known 
mfyg;ghij uapy;Ntapd; mfyk;  
a. 1.576 kP  b. 1.676 kP  c. 1.776 kP  d. 1.876 kP 
e. tpil njhpatpy;iy 
 

60. Which is the Mountain peak in India that is also known as “The five 
treasures of snows”? 
a. Mount Abu  b. Gurushikar  c. Anaimudi d. Kanchenjunga 

e. Answer not known 
“Ie;J gzp nghf;fp~q;fs;” vd mwpag;gLk; ,e;jpa kiyr; rpfuk;? 
a. kTz;l; mG  b. FU~pfhh; c. Mid Kb d. fQ;rd; [q;fh 
e. tpil njhpatpy;iy 
 

61. Harihara and Bukka served under the Kakatiya ruler of Warangal was 
a. PrataParudra I    b. PrataParudra II 

c. PrataParudra III    d. PrataParudra IV 
e. Answer not known 
`hp`uh; kw;Wk; Gf;fh; ve;j fhfjPa thuhq;fs; Ml;rpahshplk; Nrit 
nra;jdh; 
a. Kjyhk; gpujhgUj;jpud;   b. ,uz;lhk; gpujhgUj;jpud; 
c. %d;whk; gpujhgUj;jpud;   d. ehd;fhk; gpujhgUj;jpud; 
e. tpil njhpatpy;iy 
 

62. Name the person who was associated with the News paper “Sambadh 
Kaumudi” 
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a. Raja Ram Mohan Roy   b. Swami Dayanand Saraswathi 
c. Dadabhai Naoroji    d. Keshav Chandra Sen 
e. Answer not known 
‘rk;gj; nfsKjp’ vd;w gj;jphpf;if ahNuhL njhlh;GilaJ 
a. uh[huhk; Nkhfd; uha;   b. Rthkp jahde;j ru];tjp 
c. jhjhgha; nesNuh[p   d. Nfrt; re;jpu nrd; 
e. tpil njhpatpy;iy 
 

63. Regarding the taxation system of Krishna Deva, the ruler of Vijayanagar. 
Consider the following statements: 
(1) The tax rate on Land was fixed depending on the quality of the land. 
(2) Private owners of workshops paid on industries tax. 
Which of the statements given above is/are correct? 
a. (1) only   b. (2) only        c. Both (1) and (2)  
d. Neither (1) nor (2) e. Answer not known 
tp[aefu kd;dh; fpU~;zNjtuhah; thp tpjpg;G Kiwapy; fPo;f;fz;l ve;j 
tpjpKiwia gpd;gw;wpdhh;? 
1. epy thpahdJ epyj;jpd; jd;ik mbg;gilapy; eph;zapf;fg;gl;lJ. 
2. jdpahh; njkhopy; epWtdq;fspd; Kjyhspfs; njhopw;rhiy thpia 
nrYj;jpdh;. 
a. 1 kl;Lk;   b. 2 kl;Lk;  c. 1 kw;Wk; 2 kl;Lk;   
d. 1k; ,y;iy 2k; ,y;iy  e. tpil njhpatpy;iy 
 

64. How many strata of buildings have been revealed at Mohenjadaro? 
a. Six   b. Seven  c. Eight  d. Nine 

e. Answer not known 
nkhfQ;rjhNuhtpy; cs;s fl;blq;fspy; vj;jid kz;zLf;Ffs; 
fz;Lgpbf;fg;gl;Ls;sJ? 
a. MW   b. VO  c. vl;L  d. xd;gJ 
e. tpil njhpatpy;iy 
 

65. The First All India conference of Lokayuktas and Upa-Lokayuktas was held 
in 
a. Shimla  b. Calcutta  c. Goa  d. Bangalore 
e. Answer not known 
Nyhf; MAf;jh kw;Wk; cgNyhf; MAf;jhtpd; Kjy; mfpy ,e;jpa 
fUj;juq;fk; eilngw;w ,lk; 
a. rpk;yh  b. fy;fj;jh  c. Nfhth  d. ngq;f@h; 
e. tpil njhpatpy;iy 
 

66. Who will act as the President of India when the office of the President and 
the Vice President are vacant? 
a. The Chief Election Commission  b. The Prime Minister 
c. The Chief Justice of India   d. The Speaker of Lok Sabha 
e. Answer not known 
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FbauRj; jiyth; kw;Wk; Jiz FbauRj; jiyth; gjtp ,lq;fs; fhypahf 
,Uf;Fk;  NghJ FbauRj; jiytuhf nray;gLgth; ahh;? 
a. jiyikj; Njh;jy; Mizak;   b. gpujkh; 
c. cr;r ePjpkd;w jiyik ePjpgjp  d. Nyhf;rgh rghehafh; 
e. tpil njhpatpy;iy 
 

67. When was the first Lok Sabha dissolved? 
a. 26 January, 1957    b. 04 April, 1957 
c. 15 August, 1957    d. 02 October, 1957 
e. Answer not known 
KjyhtJ kf;fsit vg;NghJ fiyf;fg;gl;lJ? 
a. 26 [dthp> 1957    b. 04 Vg;uy;> 1957 
c. 15 Mf];l;> 1957    d. 02 mf;Nlhgh;> 1957 
e. tpil njhpatpy;iy 
 

68. In the Kesavananda Bharati Case, the Supreme Court declared that 
(i) the preamble to the constitution of India is not a part of the constitution. 
(ii) the preamble to the constitution of India is a source of power and a  
      source of limitation and prohibition. 
(iii) the preamble is an integral part of the Indian constitution. 
a. i only   b. iii only  c. i and ii  d. ii and iii 
e. Answer not known 
Nfrthde;j ghujp tof;fpy; cr;rePjpkd;wk; toq;fpa jPh;g;gpd; rhuhk;rkhff; 
fPo;f;fz;l $w;Wfspy; vJ/vit rhpahdit? 
(i) ,e;jpa murpayikg;Gr; rl;lj;jpd; KfTiu mt;turpayikg;Gr; rl;lj;jpd;  
  xU mq;fky;y. 
(ii) ,e;jpa murpayikg;Gr; rl;lj;jpd; KfTiu> murjpfhuj;jpd;  
   Njhw;WthahfTk; murjpfhuj;ijf; fl;Lg;gLj;Jk; guk;gpw;F  
   cl;gl;ljhfTk; cUthf;fg;gl;lJ. 
(iii) KfTiu vd;gJ ,e;jpa  murpayikg;G rl;lj;jpd; xUq;fpize;j  
   gFjpahFk;. 
a. i kl;Lk;  b. iii kl;Lk;  c. i kw;Wk; ii  d. ii kw;Wk; iii 
e. tpil njhpatpy;iy 
 

69. Swaranajayanti Gram Swarozgar Yojana (SGSY) was restructured as, 
a. The Integrated Rural Development programme. 
b. The Swarana Jayanthi Shahari Rozgar Yojana. 
c. National Rural Livelihoods Mission. 
d. The National rural Employment programme. 
e. Answer not known 
rth;zn[ae;jp fpuhk Ranjhopy; jpl;lk; (SGSY) ve;j ngahpy; 
kWr;rPuikf;fg;gl;lJ? 
a. xUq;fpize;j Cuf tsh;r;rpj; jpl;lk; 
b. Rth;z n[ae;jp efh;g;Gw Ntiytha;g;G jpl;lk; 
c. Njrpa Cuf [Pthjhu ,af;fk; 
d. Njrpa Cuf Ntiytha;g;G jpl;lk; 
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e. tpil njhpatpy;iy 
 

70. In India goods and service tax was implemented on 
a. June 1, 2017  b. July 1, 2017 c. April 1, 2018 d. August 1, 2018 
e. Answer not known 
,e;jpahtpy; ruf;F kw;Wk; Nrit thp ___________ mky;gLj;jg;gl;lJ. 
a. [_d; 1> 2017  b. [_iy 1> 2017  c. Vg;uy; 1> 2018 
d. Mf];l; 1> 2018  e. tpil njhpatpy;iy 
 

71. ASPIRE was launched in the year 2015 for the purpose of, 
a. To improve the Educational standard of the rural poor. 
b. To increase the Employment opportunity in the urban centres. 
c. To accelerate Entrepreneurship and promote start-up. 
d. To Enhance the Educational facilities in the rural areas. 
e. Answer not known 
ASPIRE – 2015 tJ tUlk; ve;j Nehf;fj;jpw;fhf Jtf;fg;gl;lJ? 
a. Vio fpuhkGw fy;tp juj;ij cah;j;Jtjw;fhf. 
b. efh;g;Gw gFjpfspy; Ntiytha;g;Gfis cah;j;Jtjw;fhf. 
c. njhopy;Kidg;ig KLf;fp tpLjy; kw;Wk; Gjpa njhopy;fis Cf;Ftpj;jy;. 
d. fy;tp trjpfis Cuf gFjpfspy; mjpfg;gLj;Jjy; 
e. tpil njhpatpy;iy 
 

72. Which of the following is not associated with Gopal Krishna Gokhale? 
a. Monthly Magazine, ‘Voice of India’ 
b. Poona Servaj Samaj 
c. Servants of India Society 
d. Secretary of Indian National Congress, 1903 
e. Answer not known 
gpd;tUtdtw;wpy; Nfhghy fpU~;z NfhfNyTld; njhlh;G ,y;yhjJ vJ? 
a. khj ,jo;> ‘,e;jpahtpd; Fuy;’ 
b. G+d rhh;th[dpd; rgh 
c. ,e;jpa Copah; rq;fk; 
d. ,e;jpa Njrpaf; fhq;fpurpd; nrayhsh;> 1903 
e. tpil njhpatpy;iy 
 

73. In 1937 Mahatma Gandhi published a series of articles in his paper. The 
Harijan and proposed a scheme of education called _______, better known 
as the Wardha Scheme. 
a. Elementary education   b. Basic education 
c. Secondary education   d. Higher education 
e. Answer not known 
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1937 Mk; Mz;L kfhj;kh fhe;jp jdJ ‘jp `hp[d;’ vd;w gj;jphpf;ifapy; 
njhlh; fl;Liufis ntspapl;L> tujh jpl;lk; vd;W miof;fg;gLk; 
_________ fy;tpj;jpl;lj;ij Kd;nkhope;jhh;. 
a. njhlf;ff; fy;tp    b. mbg;gil fy;tp 
c. ,ilepiyf; fy;tp   d. cah; fy;tp 
e. tpil njhpatpy;iy 
 

74. Bhagat Singh, Raj Guru, Sukh Dev were hanged on 
a. March 23, 1931    b. March 25, 1931 
c. March 27, 1931    d. March 30, 1931 
e. Answer not known 
gfj;rpq;> uh[;FU> RfNjt; MfpNahh; J}f;fpyplg;gl;l ehs; 
a. khh;r; 23> 1931  b. khh;r; 25> 1931  c. khh;r; 27> 1931 
d. khh;r; 30> 1931  e. tpil njhpatpy;iy 
 

75. “Dravida Nadu” was the magazine of which party? 
a. Dravida Kazhagam 
b. Dravida Munettra Kazhagam 
c. Marumalarchi Dravida Munittra Kazhagam 
d. Justice party 
e. Answer not known 
“jpuhtpl ehL” ve;jf; fl;rpapd; ,johf ,Ue;jJ?  
a. jpuhtplh; fofk;     b. jpuhtpl Kd;Ndw;w fofk; 
c. kWkyh;r;rp jpuhtpl Kd;Ndw;w fofk; d. ePjpf;fl;rp 
e. tpil njhpatpy;iy 
 

76. Match the following: 
A. Swedeshamitran  1. Young Radicals 
B. Gita    2. De facto Editor 
C. Bala Bharat  3. Tamil Translation 
D. The India   4. Sub Editor 

 A B C D  
a. 4 1 3 2  
b.  4 3 1 2  
c. 3 2 1 4   
d. 3 1 4 2 
e. Answer not known 

nghUj;Jf : 
A. RNjrkpj;ud;  1. ,sk; uhbf;fy;]; 
B. fPij    2. eilKiw gjpg;ghsh; 
C. ghy ghuj;   3. jkpo; nkhopngah;g;G 
D. jp ,e;jpah   4. Jiz gjpg;ghsh; 
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A B C D  
a. 4 1 3 2  
b.  4 3 1 2  
c. 3 2 1 4   
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 
77. Namakkal Kavinger’s song “Without sword without blood one was has 

come” was first sung during 
a. Non-Co-operation Movement  b. Vedaranya Salt Satyagraha 
c. Gandhi’s visit to Madurai in 1936  d. Quit India Movement 
e. Answer not known 
ehkf;fy; ftpQhpd; ‘fj;jpapd;wp ,uj;jkpd;wp Aj;jnkhd;W tUFJ’ ghly; 
Kjd;Kjypy; xypf;fg;gl;l epfo;T 
a. xj;Jioahik ,af;fk; 
b. Ntjhuz;ak; cg;G rj;jpahfpufk; 
c. kfhj;kh fhe;jpapd; 1936k; Mz;L kJiug; gazk; 
d. nts;isaNd ntspNaW ,af;fk; 
e. tpil njhpatpy;iy 
 

78. “_________ men to share his meal. 
The hand of hunger’s sickness sore shall never feel”. 
In the above Thirukkural, whom the hunger never affects? 
a. A rich person   b. A virtuous person 
c. A saint    d. One who shares the food with others 
e. Answer not known 
___________ ____________ ___________ grpnad;De; 
jPg;gpzp jPz;l yhpJ. 
Nkw;fz;l Fws; ahiug; grpg;gpzp jPz;lhJ vd;fpwJ? 
a. nry;te;jiu  b. gz;ghsiu   c. jtj;jpdiu 
d. gFj;Jz;gtiu  e. tpil njhpatpy;iy 
 

79. Match correctly the sangam lands with related Gods 
A. Marudam   1. Varunan 
B. Neydal   2. Indra 
C. Palai    3. Mayon 
D. Mullai   4. Kottravai 

 A B C D  
a. 2 1 4 3  
b.  4 3 2 1  
c. 3 4 2 1 
d. 1 2 3 4 
e. Answer not known 
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rq;f fhy epyq;fSld; njhlh;Gila nja;tq;fis rhpahf nghUj;Jf. 
 A. kUjk;   1. tUzd; 
 B. nea;jy;   2. ,e;jpud; 
 C. ghiy   3. khNahd; 
 D. Ky;iy   4. nfhw;wit 

 A B C D  
a. 2 1 4 3  
b.  4 3 2 1  
c. 3 4 2 1 
d. 1 2 3 4 
e. tpil njhpatpy;iy 

 
80. “An envoy (ambassador) meet with Gowravas is fearless potentialities as 

already the sacrifice (vallal) Akkuran composed the history” 
Identify the correct meaning for the statement from the four alternatives 
given below. 
a. Before the composing of Ramayana, the Great War of India was 

written in Tamil 
b. It talks about Gowravas. 
c. It denotes the sacrifice Akkuran 
d. It is the history of the ambassador who went for peace to Gowravas 
e. Answer not known 
‘Nghh;jiy kpFe;j <h;Ik;gjpd;knuhL 
Jg;Gj;Jiw Nghfpa JzpTil Mz;ik 
mf;Fud; mida> if tz;ikiaNa!’ –  
,g;ghly; thpfs; Fwpg;gpLk; Ma;T fUj;J…..> 
a.  ,uhkhaz tuyhW jkpopy; vOjg;gLtjw;F Kd;Ng ghuj tuyhW jkpopNy  
  vOjg;gl;Ltpl;lJ. 
b. nfsuth;fisg; gw;wpf; Fwpg;gpLfpd;wJ. 
c. mf;Fud; vd;w nfhilts;sy; 
d. nfsuth;fNshL rkhjhdk; Ngr J}J nrd;w tuyhW 
e. tpil njhpatpy;iy 
 

81. In Arikkamedu, the excavation was conducted by 
a. Dr. Jagor   b. Stuward  c. Robert Bruce Foote 
d. Martimer wheeler e. Answer not known 
mhpf;fNkl;by; GijnghUs; Muha;r;rpia Nkw;nfhz;lth; 
a. lhf;lh;. N[fh;   b. ];^th;l; 
c. uhgh;l; G&];Gl;   d. khh;bkh; tPyh; 
e. tpil njhpatpy;iy 
 

82. Name the metal used by the people of South India from the Sources 
a. Copper  b. Gold  c. Silver  d. Iron 
e. Answer not known 
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Mjhuq;fspd; tpisthf njd; ,e;jpahtpy; KjyhtJ gad;gLj;jpa 
cNyhfk; vJ? 
a. jhkpuk;  b. jq;fk;  c. nts;sp  d. ,Uk;G 
e. tpil njhpatpy;iy 
 

83. Consider the following: 
1. It is a tool for managing decision making by combining both spatial and 

non-spatial data. 
2. Avoid in accuracy in GIS data collected by various departments. 
3. To monitor agricultural land holdings. 
4. To create a generic model of GIS 
Identify the major objectives of Tamil Nadu Geographical System (TNGIS) 
and answer the codes given below: 
a. 1 and 2 only  b. 2 and 3 only c. 1, 2 and 3  d. 1, 2 and 4 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;iw fUj;jpy; nfhs;f : 
1. ,lk; rhh;e;j kw;Wk; ,lk; rhuhj juTfis jilapd;wp ,izg;gjd; %yk;  
  KbntLg;gij eph;tfpg;gjw;fhd xU fUtpahFk;. 
2. gy;NtW Jiwfspy; ,Ue;J Nrfhpf;fg;gl;l GIS jfty;fspy; Vw;gLk;  
  jtWfisj; jtph;f;f. 
3. Ntshz; epy clikfisf; fz;fhzpf;f 
4. GIS f;fhf xU nghJ khjphpia cUthf;Fjy;. 
nfhLf;fg;gl;litfSs; jkpo;ehL Gtpapay; mikg;gpd; Nehf;fq;fis 
fz;lwpe;J FwpaPLfisg; gad;gLj;jp tpil fhz;f. 
a. 1 kw;Wk; 2 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk; 
c. 1> 2 kw;Wk; 3   d. 1> 2 kw;Wk; 4  
e. tpil njhpatpy;iy 
 

84. The Tamil Nadu State Government programme which is conducting 
adolescent clinics at the schools for the promotion of school children’s 
health is  
a. Nalamana Tamizhagam  b. Vazhvoli Thittam 

c. Pudhu Vazhvu Thittam   d. Kudumba Nala Thittam 
e. Answer not known 
gs;spfspy; gapYk; khzth;fspd; cly; eyid Nkk;gLj;j gs;spfspy; 
,sk;gUt kUj;Jtkidfis nray;gLj;jp tUk; jkpo;ehL khepy murpd; 
jpl;lk; __________ MFk;. 
a. eykhd jkpofk;    b. tho;nthspj; jpl;lk; 
c. GJ tho;Tj; jpl;lk;   d. FLk;g eyj; jpl;lk; 
e. tpil njhpatpy;iy 
 

85. The social reform wing envisaged by E.V.R. Periyar after his visit to Soviet 
Union was 
a. Self-respect socialist party  b. Self respect league 

c. Thani Tamil Iyakkam   d. Republic 
e. Answer not known 
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<.nt.uh. nghpahh; Nrhtpaj; A+dpad; nrd;W te;j gpwF cUthf;f jPh;khdpj;j 
r%f rPh;jpUj;jg; gphpT ____ MFk;. 
a. Ra khpahij nghJeyf; fl;rp b. Ra khpahijf; FOkk; 
c. jdpj; jkpo; ,af;fk;   d. FbauR 
e. tpil njhpatpy;iy 
 

86. Consider the following: 
1. Collective farming 
2. Micro irrigation with 100 per cent subsidy 
3. Uzhavan Mobile App 
4. Setting up solar powered pump sets 
5. Natural farming 
Indian chamber of food and Agriculture selected Tamil Nadu as a best 
agricultural state. Few of them are listed above. Select the correct reasons 
for the awards from the said reasons. 
a. 1, 2, 4 and 5 b. 1, 2, 3 and 4     c. 2, 3, 4 and 5  d. 1, 3, 4 and 5 
e. Answer not known 
fPNo nfhLf;fg;gl;ltw;iw fUj;jpy; nfhs;sTk;: 
1. xUq;fpize;j Ntshz;ik 
2. 100 rjtpfpj khdpaj;Jld; $ba Ez; ghrdk; 
3. cotd; nkhigy; nrayp 
4. Nrhyhh; gk;g;nrl; mikj;jy; 
5. ,aw;if Ntshz;ik 
,e;jpa czT kw;Wk; Ntshz; mikg;G jkpofj;ij rpwe;j Ntshz; 
khepykhf njhpT nra;Js;sJ. mjd; fhuzq;fspy; rpy NkNy 
Fwpg;gplg;gl;Ls;sJ. gl;baypypUe;J rhpahd tpilia FwpaPLfisg; 
gad;gLj;jp fhz;f: 
a. 1> 2> 4 kw;Wk; 5     b. 1> 2> 3 kw;Wk; 4 
c. 2> 3> 4 kw;Wk; 5     d. 1> 3> 4 kw;Wk; 5 
e. tpil njhpatpy;iy 
 

87. The AMRUT Mission in Tamil Nadu focuses on 
a. Provision of basic services  b. Milk Production 
c. Rural transformation   d. Education 
e. Answer not known 
“ml;ly; kWrPuikg;G kw;Wk; efh;Gw khw;wj;jpw;fhd FO” jkpo;ehl;bd; 
AMRUT - FOtpd; Nehf;F 
a. mbg;gil trjpfs; jUtJ    b. ghy; cw;gj;jp 
c. Cuf gFjpfis khw;wp mikj;jy;   d. fy;tp 
e. tpil njhpatpy;iy 
 

88. The interest for a principle of Rs. 4,500 which gives an amount of Rs. 5,000 
at end of certain period is. 
a. Rs. 500  b. Rs. 200   c. 20%  d. 15% 
e. Answer not known 
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xU Fwpg;gpl;l fhyj;jpw;F ₹ 4>500 mrYf;F nkhj;j njhif ₹ 5>000 
fpilj;jhy; mjDila jdptl;b vt;tsT? 
a. &. 500  b. &. 200   c. 20%  d. 15% 
e. tpil njhpatpy;iy 
 

89. If x = (-1)1 + (-1)2 + (-1)3 + (-1)4 + ….25 terms, y = (-1)1 – (-1)2 + (-1)3 – (-1)4 + 
….. 25 terms. Then x2 + y2 is 
a. - 625   b. + 624  c. 626   d. – 626 
e. Answer not known 
x = (-1)1 + (-1)2 + (-1)3 + (-1)4 + ….25 cWg;Gfs; y = (-1)1 – (-1)2 + (-1)3 – (-1)4 + 
….. 25 cWg;Gfs; vdpy; x2 + y2 vd;gJ  
a. - 625   b. + 624  c. 626   d. – 626 
e. tpil njhpatpy;iy 
 

90. Find the number of term in the number series 3, 6, 9, …, 111 
a. 37   b. 38   c. 36   d. 42 
e. Answer not known 
3, 6, 9, …, 111 vd;w njhlh; thpirapy; cs;s cWg;Gfspd; vz;zpf;if 
vd;d? 
a. 37   b. 38   c. 36   d. 42 
e. tpil njhpatpy;iy 
 

91. Sum of digits of a two digit number is 9. Its digits are reversed when 27 is 
added to that number then the number is? 
a. 69   b. 36   c. 47   d. 63 
e. Answer not known 
Xh; <hpyf;f vz;zpd; ,yf;fq;fspd; $Ljy; 9. me;j vz;Zld; 27-I $l;Lk; 
NghJ ,yf;fq;fs; ,lk; khWfpd;wd vdpy; me;j vz; vJ? 
a. 69   b. 36   c. 47   d. 63 
e. tpil njhpatpy;iy 
 

92. Simplify √49 + √220 + √16 + √81 

a. 15   b. 12   c. 8   d. 7 
e. Answer not known 

RUf;Ff: √49 + √220 + √16 + √81 

a. 15   b. 12   c. 8   d. 7 
e. tpil njhpatpy;iy 
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93. If area of a quadrilateral having one diagonal 7 cm is 63 cm2 and if length of 
perpendiculars drawn from the opposite vertices to that diagonals are 5 cm 
and x cm then value of x is 
a. 9 cm   b. 23 cm   c. 35 cm       d. 13 cm 
e. Answer not known 
63 nr.kP2 gug;gsTs;s xU ehw;fuj;jpd; xU %iytpl;lk; 7 nr.kP. NkYk; 
vjph; cr;rpfspypUe;J mk;%iytpl;lj;jpw;F tiuag;gLk; Fj;Jf;NfhLfspd; 
ePsq;fs; 5 nr.kP kw;Wk; x nr.kP vdpy; x-d; kjpg;G 
a. 9 nr.kP  b. 23 nr.kP   c. 35 nr.kP  d. 13 nr.kP 
e. tpil njhpatpy;iy 
 

94. The floor of an office building consists of 200 rhombus shaped tiles and 
each of its length of the diagonals are 40 cm and 25 cm. Find the total cost of 
polishing the floor at Rs. 45 per sq.m. 
a. Rs. 900  b. Rs. 200     c. Rs. 4,500  d. Rs. 450 
e. Answer not known 
Xh; mYtyff; fl;llj; jiuapy; 200 rha;rJu tbtpyhd XLfs; 
gjpf;fg;gLfpd;wd. XLfspd; %iytpl;lq;fspd; msTfs; 40 nr.kP. kw;Wk; 25 
nr.kP. vdpy;> jiuia nkU$l;lr; rJu kPl;lUf;F &. 45 tPjk; nkhj;jr; 
nryitf; fhz;f. 
a. ₹ 900   b. ₹ 200   c. ₹ 4,500  d. ₹ 450 
e. tpil njhpatpy;iy 
 

95. A sum of Rs. 48,000 was lent out at simple interest and at the end of 2 years 
and 3 months the total amount was Rs. 55,560. Find the rate of interest per 
year 
a. 6%   b. 7%   c. 8%   d. 9% 
e. Answer not known 
fldhf toq;fg;gl;l mry; ₹ 48>000 f;F 2 Mz;Lfs; 3 khjf; fhyj;jpw;Fg; 
gpd; jdptl;b %yk; ngwg;gl;l nkhj;j njhif ₹ 55>560 Mf ,Ue;jJ 
vdpy;> tl;b tPjj;ijf; fhz;f. 
a. 6%   b. 7%   c. 8%   d. 9% 
e. tpil njhpatpy;iy 
 

96. In what time will Rs. 5,600 amount to Rs. 6,720 at 6% per annum? 

a. 2
1

3
 years  b. 2

2

3
 years  c. 3

2

3
 years  d. 𝟑

𝟏

𝟑
 years 

e. Answer not known 
vj;jid Mz;Lfspy; &. 5,600 Mz;Lf;F 6% jdptl;b tPjj;jpy; &. 6,720 
Mf caUk;.  

a. 2
1

3
 Mz;Lfs; b. 2

2

3
 Mz;Lfs; c. 3

2

3
 Mz;Lfs; d. 3

1

3
 Mz;Lfs; 

e. tpil njhpatpy;iy 
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97. There are 50 students in a class. If 14% are absent on a particular day. Find 
the number of students present in the class. 
a. 36   b. 7   c. 43   d. 38 
e. Answer not known 
xU tFg;gpy; 50 khzth;fs; cs;sdu;. xU Fwpg;gpl;l ehspy; 14% tUif 
Gupatpy;iy vdpy; tUif Ghpe;j khzth;fspd; vz;zpf;if fhz;f. 
a. 36   b. 7   c. 43   d. 38 
e. tpil njhpatpy;iy 
 

98. 72% of 25 students are good in Mathematics. How many are not good in 
Mathematics? 
a. 5 students  b. 6 students    c. 7 students  d. 8 students 
e. Answer not known 
25 khzth;fspy; 72% Ngh; fzpjg; ghlj;jpy; jpwikahdth;fs;. fzpjg; 
ghlj;jpy; jpwikaw;Nwhh; vj;jidg; Ngh;? 
a. 5 khzth;fs;  b. 6 khzth;fs;   c. 7 khzth;fs;  
d. 8 khzth;fs;  e. tpil njhpatpy;iy 
 

99. The L.C.M. of two co-prime numbers is 5005. If one of the numbers is 65, 
then find the other number 
a. 65   b. 66   c. 1   d. 77 

e. Answer not known 
,U rhh; gfh vz;fspd; kP.rp.k. 5005. Xh; vz; 65 vdpy;> kw;Nwhh; vz; vd;d? 
a. 65   b. 66   c. 1   d. 77 
e. tpil njhpatpy;iy 
 

100. If 48% of 48 = 64% of x, then x = 
a. 64   b. 56   c. 42   d. 36 

e. Answer not known 
48 ,d; 48% = x ,d; 64% vdpy; x d; kjpg;G _________ MFk;. 
a. 64   b. 56   c. 42   d. 36 
e. tpil njhpatpy;iy 

 


